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2. \i_{ﬁ%’out using tablesor cal culator evaluate log, (x2 - 9) =3log,2+1 (3marks)
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3. Without usng acal culator, evauate, , leaving your answer asafractioninitssmplest

2 %Jr % + % of 2%
170
form. (3marks)
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4, Find the equation of aperpendicul ar bisector of agﬁeAB if the coordinatesof A and B are(-4,-2) and (6,2)

respectively. o (3marks)
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5. S(ag@for x intheequation below; 5x2%*1-3x2x-34=0 (3marks)
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6. The figure below is a velocity —time graph for a car.

2

rubkily liro]

)
=
L'

0

ime senems=)

@ Find thetotal distancetraveled by the car? (2mks)



(b) Calculatethe decel eration of thecar. & (2marks)
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7. Usethereciprocal tgbhﬁ sguaretables and cubetablesto eval uate; (3marks)
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8. The surface areaof two cylindrica water tanksare 50n and 162m? respectively. Given that the volume of water

inthe second tank is 36450m?3, find the volume of water in the first tank if it’s half full. (4marks)
0. Find theinequalitiesthat definetheregion R showninthefigure below (4marks)
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10 Thediagram bel owéhows part of the quadrilateral PQRS.
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Giventhat 2RS=RQ and that PQRSisacyclic quadrilateral, completethe diagram.

1. Solvethefollowing inequality and represent your solution onanumber line.

3+x-4(x-3)<30

(3marks)

(3marks)



12. Evaluate thefollowing without using mathematical tablgsor calculator.
o

(3marks)
Sn30°Tan240° Cos60°, &
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13. e‘l*ﬁe equation of acircleisgiven by 2x?+16x+2y?-4y-2=0. Determinetheradius and centre of thecircle.
Q‘e (3marks)
2

14. A Kenyan businessman bought goodsfrom Japan worth 2,950,000 Japanese Yen.On arrival in Kenya, custom
duty of 20% was changed on the val ue of the goods.

If theexchangerateswereasfollows:-
1 usdollar =118 Japaneseyen
1 usdollar =76 Kenyashillings

Cdculatetheduty paidin Kenyashillings. (2marks)



15. A positivetwo digit number issuch that the product of fRe digitsis 24. When thedigitsarereversed, the number
formed isgreater than original number by 18. Find ‘tohé’number. (3 marks)
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16. Lﬁg’figure below (not drawn to scale) has points P, Q, R and S on the circumference of thecirclecentre O, such
<<Ke‘?’that PQisparalel to SR and angle SRQ = 125,

N\
&

Determinethesizeof angle-

a) QOS obtuse (2 mark)

b) QPS (1 mark)

0) SQR (1 mark)



SECTIC 5 ) I . ﬁ hi .
17.  TriangleABC hasverticesA(-5,-3),B(-3,-5) ag@(?(—&-l).
>
Q
a) Plot triangleABC:sznditsimage%z})é\fc1 under reflectionintheliney=-x. (3marks)
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a) A'"B"C"istheimage of A'B'C' under rotation centre (0,0) through apositive quarter turn. Plot
AU1BMCH and stateits co-ordinates. (2marks)

b) A®B3C3with coordinatesA3( 7.5,-4.5),B%(4.5,-7.5) and C3(4.5,-1.5) istheimage of A'BXCY
under acertain transformation. Plot A®B*C? and describethistransformation. (2marks)

C) A*%(5,-1.5) istheimage of A® under trand ation. State the co-ordinates of B*and C*.
(2marks)



8. o ‘ 0h@l\ngtowardslsland L. Two navy destroyerssail froma
noval base N tointercept the ship. Destroyer A %'&12 suchthat it coversthe shortest distance possible.
Destroyer B sailson abearing of 020°to l%&ﬁrbthe bearing of N from M is100° and distance NM=300Km,
Usingascale of 1cm to represent 50}§Jgra§§raermi ne
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i) thepositionsof M,N and L. (2marks)
(ii) the distance travelled by destroyer A. (2 marks)
if) thedistancetravelled by destroyer B. (2marks)

i) thebearingof N fromL. (2marks)



19.  Acountry buslefttownA at 11.45amandtraveled tg@grds town B at an average speed of 60km/h.A matatu

left town B at 1.15 pm, onthe same day and tr%@l%d towardstown A along the sameroad at an average speed
of 90km/h. Thedistance between thetwo tgym%ismkm. Determine;

s
(@  Thetimeof day whenthetwo g)é?i clesmet (4marks)
NE
¢
& :
N
e
A\
%
&
X Q(a.
&
Q,Q
&
o
&
o
<
\
{(0\ (b) How far fromtownA they met (2marks)

(© How far outsidetown B the buswaswhen the matatu reached town A (4marks)



20. A group of peopleplanned to contribute equally towards awater project which needed kshs. 2,000,000 to

complete. However, 40 members of thegroup WitI%dFéw fromtheproject. Asaresult, eachof theremaining
memberswereto contributeksh 2500 more. ¢t
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@ Find theorigina number of memgg%i nthegroup. (5marks)
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(b) Forty five percent of theval ue of the project wasfunded by Constituency Devel opment Fund (CDF).
Calculate theamount that woul d be made by each of the remaining members of the group. (3marks)

(© Members contribution werein termsof labour provided and money contributed. Theratio of thevaue
of labour to the money contributed was 6:19, cd culate thetotal amount of money contributed by the

members (2marks)
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21.  Afrequency distribution of marksobtained by 120 cihdidatesisto be represented in ahistogram. Thetable
bel ow showsthe grouped marks, frequenciesfed| the groups and a so theareaand height of therectanglefor
the group 30 — 60 marks. \Q’Zf

Marks 1-10 Jof1-30 31-60 6170 71— 100
Frequency 12 o] 40 36 8 24
Area of rectangle @ 180
Height of rectangle " 6

ad i)  Compleetietable. (4marks)
if) On the,;g?id provided below, draw the histogram. (2marks)
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b) i) Statethegroup inwhichthemedianmark lies. (Imark)

i) A verticd linedrawn through themedian mark dividesthetota areaof the histograminto two
equa parts. Using thisinformation or otherwise, estimatethe median mark. (3marks)



22.  Thefigurebelow representsarectangle PQRS&@S?r‘i bedinacirclecentre O and radius 17cm. PQ =16cm.
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(b) Theangle POS

(© Theareaof the shaded region

(2marks)

(4marks)

(4marks)
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23.  Atrader soldan articleat sh.4800 after allowing higéUstomer a12% discount on the marked priceof the
article. In so doing he made aprofit of 45%. QQ}
a) Cdculae O

Q
® Themarked priceof the g@ﬁ%l e (3marks)
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q,@ (i) the priceat which thetrader had bought thearticle (2marks)
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b) If thetrader had sold the same arti cle without giving adiscount, Cal cul ate the percentage profit he
would have made. (3 marks)

C) To clear hisstock, thetrader decided to sell theremaining articlesat aloss of 12.5%. Calculatethe
priceat which hesold each article. (2marks)
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Inthefigurebel ow E isthemid point of BC.AD(:}J@C 3:2and Fisthemeeting point of BD and AE.
B \QQ’Q
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,g‘o\ab:b_andAC:Q, findintermsof bandc (2marks)
) BD
&
NA
if) AE (2marks)
b) If BF=tBD andAF =nAE. find thevalueof t and n. (5marks)

C) Statetheratio of BD to BF. (Imark)






